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MELE [ FE v Hb K 5 | ARENIR =% W o pr (£ Hh SRR ST RS | ZEhER
M,/ ot M/ m %
1 |9 —2 A IR (BRI AR KET 3 6% 1 4 126, 000 140, 000 1.1
FRERT9—11]
2 [rF9—1 T-2E IR MATRRETHIH3 36%F1 7 120, 000 133, 000 10.8
3 |BiEF9—1 AR BRI P X ERIT 9 & 3 41 105, 000 115, 000 9.5
4 B9 —2 T-2E IR mWETHHOH2THL 1E 81, 000 88, 000 8.6
THOH2—17—1]
5 |[A#H9—2 T-2E IR BT 1 4 9% 1 44+ 33, 000 35, 700 8.2
6 [AFH9—1 T-2E IR HHTANTHILS 343K 2 31, 900 34, 500 8.2
7 N9 —1 T IR HlmEE3 THL 7%&1 2 162, 000 175, 000 8.0
8 |TEEFHLI9—3 T-2E IR THERFRXF g2 TH1 6% 64, 300 69, 000 7.3
[k —9—11]
9 |[T¥EFLI -1 T-2E IR THER I X H PN 2 6 % 57, 800 62, 000 7.3
FHMHEE1 5—34]
10 [HEH9—2 T-2E IR HEFTHR2 TH19%14 116, 000 124, 000 6.9
[#mEe—3—11J
(k% : [,/ i, BB : %)
x & - I % M
NEAL [ K v W R B | FEFR =W M o P (£ Hu B2 SFISENRMEE | BEhER
M,/ nt M/ m %
1 [KrF9—1 NS MBI L THL 2%2 77, 000 81, 000 5.2
2 |[KH9—2 KB RF WG HERIIM2TH1248%1 8 71, 000 74, 000 4.2
FHBPdLEr2 —9—2 1]
3 | KFAEBL9 —1 mER KFOEBILTHPERT 1 5 9% 6 4+ 38, 200 39, 800 4.2
4 | EEES — 1 LRI o= T SR X AR T 3 6 3% 2 74, 000 77, 000 4.1
5 | EEE9 — 2 S I B S ElT 1 9% 5 61, 500 63, 900 3.9
6 |9 — 3 ST I P T O X RV IRIT 3 0 &N 77, 000 80, 000 3.9
7 |RE9—2 KB RF WEH AR 1 TH2 1 %54 91, 000 94, 500 3.8
TR1—4—171
7 |[hEFgR9 —1 LRI AT XS 3 TH6F 104, 000 108, 000 3.8
9 |9 —1 NS ZHiEEIE5 TH4338%10 80, 000 83, 000 3.8
r&mis—-52—11]J
10 [FhFHHE9 — 4 LRI A TR X TR 1 3 3 3% 95, 500 99, 000 3.7
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NENE [ RE v Hb K 5 | ARENIR B OHE M oo it fE Hh SRR SRELA R | BEhE
M,/ ot M/ m %
1 |[AXL9—1 AR XK UHitRENT 4 TH 1% 74+ 83, 600 88, 000 5.3
2 PRE9—1 pog i) MRS AL 1 TH1 6% 43, 000 45, 000 4.7
3 PRE9—2 T IR AR B A KoM 2 W FHhfE 6 0 & 7 48, 200 50, 200 4.1
4 |AHEWHI—5 papsilay L BT O 2 0 5 &4 43, 200 44, 800 3.7
[afr2—11J
5 |[AEE#9 —4 5 I Al BETEEREA3THS80 1%L 51, 300 52, 400 2.1
6 | EHETho—1 papsilay RGP RA&ILNS5THLI705% 202, 000 202, 000 0.0
&Ls—17—22]
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(k% : [,/ i, BB : %)
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NEAL [ B Y W F 5 | FREFR =W M o P (£ Hb B2 SFISELNRMEE | BEhER
M,/ nt M/ m %
1|k —1 TP IR BT TR 3% 6 2 79, 000 102, 000 29.1
2 PRE9—1 TR U RIGTHEIRET 5 T H 8 % 7 44 50, 100 61, 300 22. 4
3 |RFE9—1 TR U IMEBHAEAT3 TH7H 1O 136, 000 155, 000 14. 0|
[HET3 —7—54]
4 |HEEE 9 —1 e [ Bk FERHHMEME 3 THLIOE2 29, 000 32, 700 12.8
5 |f@E 9 — 2 8 ot U BT RXRES TH1LIOX4%F 1 79, 000 88, 500 12.0
TE5—16—17]
6 |@hE9 —7 8 ot U W RXRE1 TH8X 6% 93, 200 104, 000 11.6
TaE1—28—1 3
7 B9 —1 Ve I Bt FETFAK 1 0 6 03%&4t 43, 100 47, 900 11.1
8 |9 —2 TR U HATHEM2 TH 4% 4 111, 000 123, 000 10. 8
9 [mREH9 — 1 CETI TGS EREE PR 103, 000 114,000 10.7
[FER5EE5 —2—1 3]
10 |[Em9—1 8 ot U TEEAGERITHNE 1 TH9 84%6 45, 200 50, 000 10. 6
(o1 —2—17]
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